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[0}

0.4 -
0.2
0.0
R2.4 | R25 | R2.6 | R2.7 | R2.8 | R29 | R2.10 | R2.11 | R2.12 | R3.1 | R3.2 | R3.3 | R34 | R3.5 | R3.6 | R3.7 | R3.8 | R3.9 | R3.10 | R3.11 | R3.12 | R4.1 | R4.2 | R43
mvIE| 01 0.1 0.1 0.1 0.1 0.1 0.2 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HIVE| 03 0.4 0.4 0.4 0.4 0.3 0.4 0.4 0.4 0.4 0.4 0.4 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
m#| 04 0.5 0.5 0.5 0.5 0.5 0.5 0.4 0.4 0.4 0.3 0.3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
EI#| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4.0
3.5
3.0
— 2.5
~
B
™ 2.0
L 1.5
1.0
0.5
0.0 __-__-__-__-__-__-__-__-__.__.__._J__- - e
R2.4 | R2.5 | R2.6 | R2.7 | R2.8 | R29 | R2.10 | R2.11 | R2.12 | R3.1 | R3.2 | R3.3 | R3.4 | R3.5 | R3.6 | R3.7 | R3.8 | R3.9 | R3.10 | R3.11 | R3.12 | R4.1 | R4.2 | R43
W 1000x3000| 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
m 1000%x2000| 0.0 0.0 0.0 0.0 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1.4
1.2
1.0
I~ 0.8 -
B
m 0.6 -
0.4 -
0.2
0.0
R2.4 | R25 | R2.6 | R2.7 | R2.8 | R2.9 |R2.10 | R2.11 |R2.12 | R3.1 | R3.2 | R3.3 | R3.4 | R3.5 | R3.6 | R3.7 | R3.8 | R3.9 | R3.10 | R3.11 | R3.12 | R4.1 | R4.2 | R4.3
M 22x1,524%6,096| 0.8 0.9 1.0 1.1 1.1 1.1 1.1 1.1 1.1 1.1 1.0 0.8 0.4 0.4 0.4 0.4 0.4 04 0.4 03 03 0.2 0.2 0.2
W 22x1,524x3,048| 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




